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UPSC 2012

1.%% a¥ Ugd oo ey AR Sgrdl & 3 @S & 9, fheq 3Msteher hafl-
FUR & ok 3T g1 50 IS & T e §

A. FdI ga it SIfaal GaRT 37 Fs TUcl HT A1

B. alue] #ifelehl G@RT 90T T3t & 3UAR g Y T 3ufe
C. 3v¢ Al aTel HIST H 375 HaAl
D.mﬁgmm,aé?a@amww

Answer ||| B

Solution ||| Biologists think that many vultures being poisoned by drug
known as diclofenac as farmer administered to livestock. Such drug
wrecks the kidneys of vultures that search the remains and kills the
vulture in days, so this makes option B. correct.

2.31¢ fFE AGRER & dreqCords fohdl SRUT § qUIAAT FSC g1 ST, dl SHel
FIAT 9T GIIM?

(1). Fee [fd & § A HFEPR W Ficdehol FHT TS|

(2). HEENER T Wieh YWl W Fiddel Fd 31|

(3). AGENR &l Sl-Uelcd Ydol &I F €T ST

fAFfaf@d get & 3muR W & 3R gaw

A. dhael 131X 2
B. hdel 2
C. %dd 3
D.1,23k3

Answer ||| A

Solution ||| Statement 1 is correct as phytoplankton knock back carbon
dioxide generating world's oxygen output. Statement 2 is correct as
Phytoplankton serves as initial link in oceanic food chain by eating
zooplankton which further eats other animals that are consumed by sea
creatures, so option A. is correct as only statements 1 and 2 are correct.
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3.fArafafad s gqufaat w R fifsw:

(1). @& sty

(2). 3I9G TETT

(3). Y= 1S

dRge Stefarg aRade & Headt #, 3Ugerd # ¥ HlF-AVA Fal H FHee
UTOIC/TIGUT H TETTh &/a?

A. Faer 131 2
B. %hae 3
C.1,23R3

D. 58 & IS AgH

Answer ||| C

Solution ||| Carbon sequestration involves carbon capturing with long
atmospheric carbon dioxide storage which defers global warming.
Statement 1 is correct as contour bunding, agricultural practice is carried
across hill slopes is an effective method of soil conservation. Statement 2
is correct as Relay cropping involves growing of two or more crops on
similar field with planting of 2nd crop after 1st development. Statement 3
is correct as Zero Tillage is applied in conservation of agriculture which
brings quantum leap in crop production.

4 fAFATATET W f9urR SHIfST:

(1). @Il A& AT TRE (FoorEla ARH)

(2). drar

(3). 35 fareEdr (Fecel)

(4). oA cgan

(5). 39gFd H ¥ FlI-8 ARG H TWHiadh § H 9 1t §72

A. &aer 1, 23R 3
B. 3de 1, 331k 4
C. %aar 23X 4
D. 1, 2, 33 4

Answer ||| B
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Solution ||| Statement 1 is correct, black-necked crane is medium-sized
crane in Asia which is breeds in remote parts of India and Bhutan.
Statement 2 is incorrect as Cheetah like grasslands, savannahs, semi-
desert areas and was initially found in Kavir desert of Iran. Statement 3 is
correct as flying squirrel naturally found in China, India, Indonesia,
Myanmar, Sri Lanka, Taiwan and Vietham. Statement 4 is correct as snow
leopard found on mountain ranges of Central and South Asia which serves
as one of the five big cats found in India. We see that statements 1, 3
and 4 are correct, so best option is B.

5. f@a & @ Fla-7 dinfas 87 # Sia [fguar & ow d@ce g Tod 82
(1). df¥%a® aa=

(2). 3maE T fA@us

(3). facel S &1 Hsharor

(4). ATHER Pl AcdEA

fArfaf@d et & 3uR W & 3R gAv:

A. Fad 1, 23X 3
B. had 23R 3
C. had 131K 4
D. 1, 2, 33k 4

Answer ||| A

Solution ||| Statement 2 is correct biodiversity threat result with Loss of
Habitat and fragmentation with deforestation in tropical forests result as
cause of mass extinctions lead by human activity. Statement 1 is correct
as biodiversity threat results could be Global warming which occurs due to
changing global climate which lead to threatening of species and
ecosystems. Statement 3 is correct as invasion of non-native species
result in important and unseen reason of extinctions, so correct option is
A, as three statements are correct.

6.0feeaial 3R 3R N & g FAT a7 §?

A. 3REFE T3 3R e & A @ F AU Iefpfad ¢ safes @iw 5us 3T
qadiT g1d & Hei 3R 3S-A5Eel &3 # T/ & fOv
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B. 3iRed &1 RI$R 386 YIRT & AT o Sirar § Siafh @%@ bR HEqlr
¥ fau

C. 3iiRed ael aiRasdl sRa & Addr § Sefe DNF Fae FTR-YT Rd A

D. 39gFd &Y« (A), (B)dur (C) & & g oy &Y =eh §

Answer ||| A

Solution ||| Oryx is tailored to survive in hot and arid areas while Chiru is
tailored to exist in steppes and semi-desert areas of cold high mountains,
which makes option A correct. It is seen that Oryx species exists near
desert conditions which lives without water for longer time. Tibetan
antelope or chiru lives in cold high mountains states option B and C
incorrect.

7.\ AfTE ghifdcen raua-e aRfeufds a7 & qai & HAefaf@d sga
a1 T qUT AT B-eqaEUT, AN, AT, E&TT IR FiEpiaw| FAeafatad
H O Fia-d@r v gHAT Far 87

A. GIichTee 3R STl &l 3cdTee
B. Stefary 3R 9T fAzor

C. UI¥eh Teh0T 3R HHS GEI0T
D. faferar 3aror

Answer ||| C

Solution ||| Millennium Ecosystem Assessment assesses the
consequences of ecosystem change for human well-being describing
conditions of ecosystems and consequences of change. It is noted that
MEA involves in nutrients cycling along with pollination of different crops
which states that option C. is correct.

8.F=faf@d wuat ©w R fifsw:

afe FRAca Hr aRgear g gy, ar

(1). TR &9 &1 3ueT HRbeT &1 STl

(2). IS HGIT & YT el & TIT I T TAT &N BT 9Tl
(3). TEI-91G 9T H1H aed H [d%el 8 AT
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4. 93 U3, 5w A 39 IRT 3R @A §, g2t W g 391
3UYFT H 8 HlT-q HUA TET 82

A. Fad 1, 231X 3
B. %had 1, 331K 4
C. dhad 231X 4
D. 1, 2, 33K 4

Answer ||| B

Solution ||| Capillarity serves as capacity of flow of liquid in small space
without gravity. Statement 1 is correct as kerosene lamp involves
phenomena of capillary action. Statement 2 is incorrect as capillary action
is not applied in case of application of straw to consume soft drink.
Statement 3 is correct as blotting paper will not work without phenomena
of capillary action. Statement 4 is correct as capillary action involves
small tree to grow under big trees, so correct option is B..

9.fFfaf@d # @ Fi-ar U Wil HHg Heheesd STAAT & Hadl & Hecdtd
3T 87

A. HET R TRET, HERT 79T, offel 9isT 3R TRIAS aeg e
B. Y FGIeger, =eel, el M 3R HETT HRAT AR

C. fRH Ag3, 319 FIT, J8F deeX AR TR (o)

D. flges! Aehreh, #lier I, gJAT SR 3R =icel

Answer ||| A

Solution ||| Endangered species are risky which are threatened by factors
like habitat loss, hunting, disease and climate change, hence we see that
Great Indian Bustard, Musk Deer, Red Panda and Asiatic Wild Ass
mentioned in option A. is correct.

10.5Mat & fAeafaf@d geRi W} faar e
(1). IHICS
(2). FYAFET
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(3). T&fr
3UYFT H § HlT-H/H RETUTRRT /g2

A. Fhael 131X 2
B. %ad 2

C. dhadl 131k 3
D. 1,233

Answer ||| D

Solution ||| Pollinator is an agent which moves pollen, whether it be bees,
flies, bats, moths or birds, so 1, 2 and 3 are correct which makes option
D. correct.

11.9Rd & Aaaf@d & 9 g 397 & 3IRET &3 & T a6 S SHadR
THAd el 3N 38 3TN AT AT LT 872

A. 39 AvSeT FRfaT & &

B. TG 3T H

C. UHE §FAc H O¥d mesfaar #
D. d=gsilad IRV A

Answer ||| B
Solution |||

In national parks local people not allowed to collect and use the biomass.

12 fAmfaf@d & @ ala-dr v ISuhfeartiiy Farer g i Soaryg S JE
feIvar g2

A. I9-3T guT
B. hael MNdehrer H aul
C. 3/cTed 3TcUaliolsh NS e T
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D. Af¥ad ok @ 3 *q

Answer ||| D

Solution ||| The tropical savannas region lies in tropical climatic zone
where temperature is warm throughout the year. Such region has mean
temperatures above 18 °C. with definite wet and dry seasons, hence
option D. is correct. Option A. is incorrect as such region have annual
rainfall during wet season only and not all through the year.

13.fF=faf@a s« W TR fifaw:

(1). farolt 9Ra & a8 "R & IR AlTGT 1 37afT gedr B

(2). 398 9Ra & Her=t F af¥F e f AT qF F 9w i gedr ¢
3Ugad H U HA-A/F FIF TE §/8?

A. Fae 1

B. &had 2

C. 1 3k 25t
D.ad ar 13k 7 &r 2

Answer ||| C

Solution ||| Statement 1 is correct as duration of monsoon season
decrease from south to north India and from the east to west India.
Statement 2 is correct as amount of rainfall decreases from east to west
due to decrease in humidity of winds, hence both statements are correct
which makes option C. correct.

14.fAFfaf@a Jaa aFr W faar fifaw

(1). AR

(2). HraeToTeRT

(3). AT

(4). GeeZae

(5). 3TgEd H § Flel-A IE-ARIES &7 v g2
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A. Faer 131 2
B. &hadl 1, 331K 4
C. Fad 2, 33K 4
D. 1, 2, 33K 4

Answer ||| B

Solution ||| From the options shown, Tiger reserves are in Bandipur,
Manas and Sunderbans which makes option B correct.

15.8Tcf # dedl & Ueh 91, oI Gols HaT T Fhgd &, 1 HA 3qfd W Rear

SdE S| FAT?

(1). =T, S goT ceal T G T 3cUleh §, GaRT Feloh [l W F& Gldeeyr

o fe&ar = |

(2). A=, 3o, Farsr 3R [l #I Sigax 377 Fdr o ¢ & ¥ dcg 81

o S g

(3). gorsT HeT U faffiest YR & Felaclioles WA & [HHAOT 7 3Haegs § 3R
SoT o<dl Sl AT dedl o I8l ¢l

3UYFd H O HlT-T/A HUT T ¢/8?

A. Faa 1

B. shdel 23iR 3
C. aar 131k 3
D.1,23k3

Answer ||| C

Solution ||| Statement 1 is correct as in 2010, China being largest
producers and supplier of 95% of rare earth metals like praseodymium,
cerium, gadolinium and promethium set worries across the globe by
putting certain restrictions on exports of rare earth elements. Statement
3 is correct , as rare earth metals used for making cellphones, missile
systems, car batteries etc. Statement 2 is incorrect as apart from China,
countries like Australia, Brazil, Canada, South Africa, Tanzania,
Greenland, and United States, do involves in rare earth metals
exploration, so option C. is correct.
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16.T& cOfFd Hlell IO Td H AT H 37chell GST AT| 39 39l 3G AT AT
ST gl ¥ g # dia frelldlley &1 gt W A1l 38« ¥ Gr-A & T &i$ I
el AT, W 38 ¢adR I Tgdlel fodr| 3 3! i qguﬁ ¥ fov Aafafaa
A @ HIT-AT AT AT 3R FlAemsiaen gram?

A. gaar & feem & T

B. ¢adR & faudia feem & =el

C. YddR T YT a5 3 IGH Tl
D. YaaR &I 379 gIfgel 3R @R Tl

Answer ||| C

Solution ||| The star in night sky which does not move is called as Polaris,
Pole star or North Star, which tells you of north direction. Since the
direction of the village is on left from where he happen to see pole star,
so in such case the person will have to walkdown by keeping polestar on
left, hence option C. is correct. Option A. is incorrect as if the person
walks in direction of polestar, then he will walk towards north, which is
incorrect. Option B. is incorrect as the person if walking in opposite
direction of polestar will move towards south. Option D. is incorrect as if
the person while walking keeps the polestar towards his right, then he will
tends to move towards west direction.

17. %19 & T FIAIT HUSR gld U 1 8IRd a1 Aferds oo el &1 3mard
T g2

(1). ¥R &1 Ig AT & & a8 39 Fge & #UsR A afasy & v wWiad
W 3R A 39T & v 39 3T o ¥ 3mara HY|

(2). RA & 3R fdegd T HI W IR ¢ 3R 3¢ & & gdied
AT H T T 3HdReE 3qfd 781 g ardn

(3). 3TATT FFUfAAT PI T AT H HIh DI I AAISHAT ISl g, oH =g
AT I3l B

3UPFd H § HIA-T/A FUT T ¢/8?

A. haol 1
B. ahdol 231X 3
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C. &hdol 131X 3
D.1,23k3

Answer ||| B

Solution ||| India lies among 5th largest coal reserves and world's 3rd
producer and importer of coal. We see that coal in India is of lower grade
while imported coal have less ash and more carbon content which able to
create more heat per kilogram which can be used in steel companies, so
statement 3 is correct. Being good producer of coal, in India, power plants
are mostly coal based, so normal production of coal will not be much for
power plants, hence statement 2 is correct. Statement 1 is incorrect, so
best option is B..

18.9Rd & Tlaud # dheg 3R TSI & g fhw v AfFadt &1 s 4 @
fras sfeaf@a deenm 1 3mefia &2

A. AR-Awer gurR 1909

B. AleCIg-UFHBIS TAfg#, 1919
C. ARd &R ARfATAH, 1935

D. ARAT Tadaar JfRafage, 1947

Answer ||| C

Solution ||| We see that Act of 1935 which is Government of India Act
gives formula for power distribution among centre and states after
independence which serves as basis for power distribution among union
and states in Indian Constitution, so option C. is correct.

19.9Tde HRA 20 T ¥cgaedqr # Hcded Hgedqu A e arelr Aofy
IS oh TegHd H AFATATd H F HloT-A1/F HUT TET 8/a?

(1). 9 ‘Ao AT T Ueh doag TTARIOT & WY Tsilehel glelr A 3R
TRIMATAS TR G IS 3Tl THG BT AT

(2). 30l &1 AT, HH e & fogAl, AR IR HaAat H ARG Har A
(3). ‘80’ FT 39 A W A1 AR-3TRR gar 2T
fArfaf@d Feb & 3uR W Fer W gAvw:
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A. Faer 131 2
B. %hae 3

C. %aer 2 3R 3
D. 1,233

Answer ||| D

Solution ||| Guilds in Ancient India are different and talented organisation
that functions of democratic government, trade union, court of justice and
as institution. Statement 2 is correct as Guild fixed working and quality
rules of finished product along with its pricing in order to safeguard
artisan and customer. Statement 1 is correct as guilds were registered
with the town authority. Statement 3 is correct as being having judicial
powers, guilds can check and balances activities of artisans by framing
penal laws, as all statements in this question are correct, so correct
option is D..

20.FFfeiEd ) faur Hifew:

(1). HeT & TE&T TUT 39T & IO & MR TR A A HT Hodicho]
(2). ge&r H Tolc-THcr drdt &1 3ugrer

(3). dFeTR 3R ofrel A T Wl

39ged # O HlF-HIA 3G BT ARA @ ST Ay

A. &had 1
B. 13k 2
C.23Rk3

D. &5 o 77gT

Answer ||| D

Solution ||| Statement 1 is incorrect as Britishers were not involved in
Land revenue assessment based on soil fertility, but it was Raja Todarmal
who introduced assessment of land revenue based on soil fertility and
crop quality. Statement 2 is incorrect, as also britishers were not involved
in use of mobile cannons in warfare, but Babur during conquest of Delhi
uses mobile light canon which was much earlier than British rule in India.
Statement 3 is incorrect as between 17th and 18th centuries crops like
tobacco, maize, potato and red chillies were cultivated which were much
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earlier than British rule. We see that all three statements are incorrect
hence correct option is D..

21.°M3 & TNl I JHT 3¢eed & &

A. 93 dF vAF S 7 3T SRATET @eld S IIT FL
B. Rffes Tsdiagd St 7 2 wfaeer &

C. Yl s quel T & folv gush-que fofell &I Jee
D. @8l d&h 319a arE SfAT TR St & faw gt garg Y

Answer ||| C

Solution ||| Reserve Bank of India introduced Lead Bank Scheme where a
bank will act as consortium leader to coordinate efforts of banks in
districts in terms of branch expansion and credit planning, which correctly
describes option C.. Option A. is incorrect as lead bank will not insist big
banks to open its branches each district. Option B. is also not correct as
Lead Bank will not lead to any competition which exits among nationalised
banks. Option D. is not relevant as the scheme will not involve in
mobilization of deposits, so correct answer is option C..

22 farAfaf@a e ) faar fifaw:

fohell HeT T ITRTSET a6k & Hod

(1). 2T = AuRT Fwar &

(2). T & SaRT Yed aE3/Aai3i &1 el #Afer g, & Ui g gl
(3). FFEfUd ¥ T WHR FHr FeRar ¥ Fuia gar &

(4). grafaug gor 7 3nfe gesmeaar @ RuRa gar &

3UYFT H O HlT-Q S TEr 82

A. 1,2, 33k 4
B. &had 23R 3
C. dhad 331K 4
D. dad 131X 4

Answer ||| B
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Solution ||| Statement 1 is not correct as World Bank lend money to other
governments and is not involved in deciding price of any currency in
international market. Statement 2 is correct as currency depends on
pricing of demand/supply of goods and services. Statement 3 is correct as
currency rate also depends on countries stability. Statement 4 is not
correct as currency cannot be decided based on economic conditions. We
see that only statements 2 and 3 are correct, so best option is B..

23.fAFAfaf@d d & Sla-dr ad 9Ra 7 faceht gcger oy & gafase gl
(1). 9Ra & facl weufaal i ggr~re Faafaar
(2).ﬂﬂ?ﬁwwqﬁﬁﬁa§ﬁ@asﬁé%ﬁg%€rw

(3). T2l FFafadl ganT 3t &9 & faa-q¥a wrafaar

4, Qrémiforar faaer

fAFfaf@d et & 3muR W @ IR gv:

A. 1,2, 33k 4
B. &had 23R 4
C. aar 131k 3
D. hael 1, 23iR 3

Answer ||| D

Solution ||| Foreign direct Investment serves as investment from
company or individual based in one country, into company based in
another country. Statement 1 is correct as investors across world will
invest in India when Government gives subsequent subsidiaries.
Statement 2 is correct as many foreign investors holds shares, equities
and currencies in Indian companies. Statement 3 is correct as there are
many companies in India that are exclusively financed by foreign
companies. Statement 4 is incorrect as portfolio investment is not part of
Foreign Direct Investment. We see that statements 1, 2 and 3 are only
correct, hence correct option is D..

24.AEATAd Ul & @ fhah/fheteh IROTATaRT 3rdegaear & Har 3mqfd A
TR A

(1). Foarg d gy #eil @ TSR gfaefaat &1 w3

(2). AR g@nT aifoifSas Saf F AT Hr 7 HIET
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(3). THR ORI Feg1T dh & forr g =xor
(4). Far S garr Al WHRT gfasgfaat & s
fFFfaf@d @et & 3MuR W ¥ 3R gav:

A. Faer 1
B. el 23R 4
C.13R3
D. 2, 33 4

Answer ||| C

Solution ||| Money supply results when Reserve Bank pumps the money
for buying government securities from Public, so we see that statement 1
is correct. Statement 2 is incorrect as while depositing money in bank by
customer, the transfer of money is in between customer and commercial
banks, which will not effect money supply. Statement 3 is correct as when
Government borrows money from RBI, then money will flows out of
Reserve Bank as new money for Government demands which finally
increase money supply. Statement 4 is not correct as selling of
government securities to public through bank will not result in money
supply. As statements 1 and 3 are only correct, so the correct option is C.

25.ArATEd # & foha/fone aRTEufaaRiEufaat & it omr gr dehdr 872
(1). 9« frdr 3cure & fashg & gefor gt

(2). 9« frdt grafd & Hed A Iipfds gefdr &

(3). I« 39 HIS WifeT TS AR IHHN AT Tood & HROT 386 Hed A
gefer 8

fArfaf@d et & 3muR W & 3R g

A. &hae 1
B. shdel 23iR 3
C. Fad 2
D.1,2 3R 3

Answer ||| B
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Solution ||| Capital gain results due to increase in value of asset thereby
giving higher value compared to purchase price. Statement 1 is not
relevant as capital gain is not related to quantity of product sales.
Statement 2 is correct as capital gain also relates to natural increase in
price of property owned. Statement 3 is correct as capital gain can also be
applied with increasing price of painting which result due to its popularity.
Hence statement 2 and 3 are correct, so correct option is B..

26.9RdT RS dah (RBI) SaRT & dh (FealT sSh) o &I H S ST ¢l STHI
3 T=faf@a # & sla-a g2

(1). 37T s& RBI& 91H 3’ STAT AT 3G ¢l

(2). 3TaTH & THY RBIAOIGT® dHhi &1 Teor &ar gl

(3). RBIaTOIGOe ot &I Alfge Awal ox @& ar gl

AT el & 3MUR W HEr 3R gAv:

A. Fadr 23R 3
B. shad 131X 2
C. aar 131k 3
D. 1,233

Answer ||| D

Solution ||| Reserve Bank in India holds cash reserves of banks which
lend funds to them for shorter duration along with clearing and remittance
facilities, so it shows that statement 1 and 2 are correct. Statement 3 is
also correct as Reserve Bank of India controls monetary policy of
currency, so correct option is D..

27.5EH AT & IR H, Feafaf@d & O Fia-ard 39 T8 8/6?
(1). 38T Hidqe &1 f&aer faar|

(2). enfdsr 2t 1 earEar & AT sE QR ol S ISR
(3). 38 30 NUled 1 JuR a1 & dg Ied &
fArfaf@d Fet & 3uR W Fer W gAv:

A. Fhad 1
B. ol 131X 2
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C. ad 3
D.1,23k3

Answer ||| B

Solution ||| Statement 1 is correct as Brahmo Samaj highlights on
worship of single God, who is omnipresent while Brahmo Samaj carries no
vision for idol worship, animal sacrifice and ritualism. Statement 2 is
correct Ram Mohan find role of priestly class in perpetuating irreligious
dogmas and doctrines as being direct beneficiary. Statement 3 is incorrect
as doctrine of infallibility of vedas, was not popularized by Brahmo Samaj
as being as reformist movement of Vedic religion, there infallibility of
vedas was not accepted. So correct option is B..

28.9g-dfeen 3t &1 e gHEd °ar

A. #fT

B. FfdYeT 3R I+
C. ypfd o 3R I
D. wohfa gol 3R erfea

Answer ||| C

Solution ||| The religion of Early Vedic Aryans was Rig Vedic Religion who
worship of forces of nature and believed in divine power such as fire,
water, wind, etc. Sacrifice or Yajna was main feature of Rig Vedic
Religion, so this shows that option C. is correct.

29.979TdTeT et T AT Hef-hsll Teh god AT Jobdl fe@rs 715 &, o9 ‘sgfiAeae
HeT gl STl &1 g fohaept Tcie &7

A. AR W T WA T 39 &4 & fIead STelel @ AR &l Aol & fAT ge@r ar
el & HTEdTT
B. AR & Jeiletall & drdsle 9=l Yfar 3R errar & @l g & v geer &
el & HTEdTT
C. ¥ &I 3Yel AT I TAROT AT fob I Gl el @ 3o 81 & 3R


http://www.gradeup.com/

e

www.gradeup.co gradeup

Jodd: &Rl # felleT g ST §, 3d: Sided dshaorefiel g
D. 30 decdl H cil & U (A) Ug (B) @Y &

Answer ||| B

Solution ||| We see that Buddha call Earth to witness his purity and
chastity in spite of temptations of Mara, so Bhumisparsha gesture
summon earth goddess withess Buddha hood which signifies state of
enlightment after meditating and withstanding all temptations by Mara
god of evil. This description shows that both options A and C are incorrect
while option B. is correct.

30.WWWWWWQH(19Z9)WﬁWE§HW
g, Fifs

(1). FEIH o qUT TR $HI AT & Teh Hehod IR fohar

(2). 39 Jf8aT & 3garfedl vd eRarfedt & S e18 @ oz for arr
(3). 38 AT & 2 Tsgh B Aler & Weled H IFAFR FRA g Th Hehod
qika forar amm

3UYFd H O HIA-T/A HUT HET g/8?

A. Fad 1
B.2 33
C.13R 3
D. 39ged # & &S =gr

Answer ||| A

Solution ||| In 1929, Lahore Session of Indian National Congress is
important in the history of Indian Freedom as members of INC passed the
resolution in which they declare Poorna Swaraj as their main goal, so it
makes statement 1 correct. Statement 2 is incorrect as Lahore Session of
Indian National Congress is not related to fill gap among extremists and
moderates. Statement 3 is also incorrect as 1929 Session of Indian
National Congress is not concern with passing of resolution concerning
rejection of two-nation theory of Non-Cooperation Movement, so correct
option is A..
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31.3dC VFC FT 8T AT

A. Jeuyarat 1 JfAard 3w Fade

B. el Hehe AT Tely a8y ST 3R HeheAl H Goaars afered gishar eanr
C. RgaTha 3MeclicleT FT s

D. 98 I W Ifdeeer o@ler

Answer ||| B

Solution ||| Rowlatt Act passed in 1919 on recommendations of Rowlatt
Committee appointed by British Empire in India to consider political
violence, terrorism, controlling public unrest and rooting out conspiracy.
The idea of introducing this act is to authorize government to imprison
person without trial with all imperial authorities to deal with revolutionary
activities, which shows that only option B. is correct.

32,7890 RA & i A & Feedl # B Hed Hefaf@d & 4 fha
RE & ITROT F AaE Fd A?

(1). &ITETT 3R @&H-fAgH T

(2). Tohid & FoR I e

(3). AaT3ft & 3meaTcAs gulcAlg 3cdeel Hld & [T gfda Ndr HI I
fArfaf@d et & 3muR W & 3R gAv:

A. dhael 131X 2
B. shdel 23iR 3
C. &hae 3

D.1,2 3R 3

Answer ||| D

Solution ||| Sufi believed that experiencing God can be achieved by
meditation so they practiced Muragaba makes statement 1 correct.
Statement 2 is also correct as Sufis practised 40 days of ascetic exercise
in some lonely place with head on ground and legs tied to branch of tree
for meditation. Statement 3 is correct as Sufis recite holy songs in
maintaining social equilibrium of medieval society, which makes D. as
correct options.
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33.%AYS dUT AR cal & T F24T1 A §?

(1). TGS g H =T THES T @ HUTHYT HT TINT Hd §, SAdich
HRAATCTA H HUAYRUT FHI GINT Agl TohdAT AT

(2). Wil T T @I IR R UIg I oJcd el ol TERT HRAATCIH Hr
fafrsear &, Stafh HfIYSt 5Jca & 30 bR 1 Shan3it &1 IS Tu= 78 gl
3UYFT H § HIA-T/A HUT T ¢/8?

A. Fad 1

B. &had 2

C. 1 3k 2g=r
D.7ar1 ik agr?2

Answer ||| A

Solution ||| Statement 1 is correct as Kuchipudi dancers gives lip
movement of the song on which they are dancing along with some
dialogue in the song while there appears no lip movement in
bharatanatyam dance. Statement 2 is incorrect as in Kuchipudi dance,
performer dances on edges of a brass plate keeping its feet on edges and
not in bharatanatyam. Since only statement 1 is correct so best option is
A..

34.@fat @ R & Sfad W Th THE WERT ‘Yue & Geedl # fAe=iaf@ga &
T HIT-T FUT T 82

(1). gue T 3qafT TAT TP 7T FIel 7 ToTId AT H g3

(2). Yue gHE: AT 3N regieA w1 G g

(3). Yue TeT HAl F fIT T FER IERT T IR &

fFFfaf@d et & 3MuR W ¥E 3R giaw:

A. dhaer 131X 2
B. shdel 23iR 3
C.1,23R3
D. 39ged # @ &I o wgl 71gT ¢
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Answer ||| B

Solution ||| Statement 1 is not correct as Dhrupad originates during
Vedas period which gains popularity in 16th century which praises Lord
Krishna. The earliest source mentioning musical genre is Ain-i-Akbari of
Abu Fazl . Statement 2 is correct as Dhrupad is Indian classical music
having origin to recite vedic hymns and mantras used for worshipping
using sound. Statement 3 is correct as Dhrupad begins with free-time
alap that carries two sections: Alap and Bandish where in Alap, the singer
uses syllables from Sanskrit Mantras while Bandish is a poem with
Pakhawaj. As only two statements 2 and 3 are correct, so best option is
B..

35.F=T Faar W AR fifeT:

SIETHTS ARG T ARAT TSET 3ealeled I Falde JomEr & o &

(1). 3781 39 a1d &1 3iffcgsd far F 9o, 9IRa &1 3 eNvor X @1 &
(2). 3ogiel Ui AR TAT Fr Fredr 7 3R ARGT J 3cA-aeary semar
(3). 37gia @l FrATIoTh XISAT & FATRIOT &1 HTaRThcl W HAfAR SR e
3UYFd H 8 HIA-T/A HUT T g/8?

A. Fad 1

B. had 23R 3
C. shael 131K 3
D.1,23iR4

Answer ||| A

Solution ||| Statement 1 is correct as in 1867, Dadabhai Naoroji founded
East India Association in London, a predecessor organisations of Indian
National Congress that aims to put Indian economic conditions before the
British. Statement 2 is not correct as Dadabhai Naoroji didn't work with
ancient Indian texts. Statement 3 is also incorrect as being a social
reformer and founder of Parsi Law Association, the statement test he
stressed eradication of social evils before anything else will not reflect to
Dadabhai Naoroji. As two statements are incorrect statement, so best
option is A..
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36. Mgl T TIcRIE & AR, I BlT-H FFEHAEAN § Tofeieh AT T &9
¥ TR dreat & faAor oRar arar g2

(1). g@1 el el & [T 3¢ HETH Tl

(2). 3c91e H NIRRT AT TGAT

(3). 3=aReT I IR 3ealRel Tl H 3o 39 3R THA-TQTUT i &
foIT |&TH FerT

(4). 31T Ao oSH qGlel

Pl T2t & UK | F 3 IR

A. Faer 13X 2
B. shdel 33K 4
C. Fhad 1, 23K 4
D. 1, 2, 33K 4

Answer ||| C

Solution ||| There are many prospects which lead to growing of
genetically engineered plants as such plants can survive in drought and
will help in increasing nutritive value of produce, which shows both
statement 1 and 2 are correct. Statement 3 is incorrect as genetically
engineered plants have not been tested to grow and do photosynthesis on
spaceships. Statement 4 is again correct as genetically engineered plants
increases shell life; all three statements 1, 2 and 4 are correct, so best
option is C..

37.9Rd H Btdale & Yadlel W el & AT & HROT 7 g7

(1). BtersT &7 T $Heh SNIH & HeT hach & Silel I JaT e T I B
(2). BtdoreT & T effisier e § foms #RoT foharar &1 gcde JAlgd & ugd
e wrafaal & & @dear gsar §

(3). Tk e g b Btedere & yaeer & o9 fafawar - faudia wema 98 dehar
gl

4. ag o R”ear & T Bt o & yaee @ 9 [(fAyar ww fA9la 99 & gohdr
gl

fArfaf@d set & 3muR | @& 3R gAv
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A. &aer 1, 23iR 3
B. %had 2 3R 3
C. had 331K 4
D. 1, 2, 33K 4

Answer ||| C

Solution ||| Statement 1 is not correct as Bt brinjal is transgenic brinjal
which inserts in crystal protein gene from the soil bacterium. Statement 2
is incorrect as Bt Brinjal has no appearance and features of being
terminator seed. Statement 3 and 4 are correct as Bt Brinjal relates
possibly an adverse impact on human health, bio-safety, livelihoods and
biodiversity. So we see that statements 3 and 4 are only correct, hence
best option is C..

38.AFATANET ded Gl # & HlA-AT Teh G2l W Sfgel AT 39U & o

Held ITERT AaT?

A. gTS3IaT, 3Tadrerd, aifsasd

B. &1, §I83Told, TS3erele

C. eIt Shicadd, ThIEhRA
D. &1, gT53lle, arefs

Answer ||| B

Solution ||| All living things need major elements of biomolecules like
carbon, hydrogen, nitrogen, oxygen, phosphorus and sulphur, so only
option B. will support.

39.91gHUSH H HIeel SSHFASS HT dodl g‘é AT & IPAUS HT dIATT €R-
Y 9¢ @7 &, T FIeeT SS3HFaSs

A. g & 3UTEA SToldrsd i I Y 3T FAT T AT A &
B. | fafehor & urrdarety 3ier &1 3raenfia ach @
C. §qUT € fafehaor &t 3raeifdd el &
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D. ¥t Ifeor & 3raaa 372 & 3anfa s §

Answer ||| D

Solution ||| We see that carbon dioxide controls temperature in
atmosphere as its molecules in air tends to absorb infrared radiation. The
carbon dioxide in atmosphere are transparent to visible radiation which
delivers sun's energy to earth, so with this option D. is correct.

40.%% ol T Araelm § o dolt @ 96 W@ Foll 1 SFd Q@ & fow 7R &t
ARNIA FI ARAT FaT F 7T & $UT F T # ARAT A & AT aner
3R faohrE e WU 58 Tt H ORTH, RATH HT Jolelt A 5 317eh
STHFRT &7

(1). wpfad & FATA &1 Jolelt & NRIA & Hel 311AR UK B

(2). 3cGerA-Ted Widsl & A arell Yl SIS GeTAT Foil T Jofell T
ST, & ARIH, Trehicdeh JRIFATH &I Jolell H, el S Foll ScTeTal AT &
(3). IRTA, RATH A JoIam &, FH ThAEICE AR Ieariecd Hdm g
39T A § HIA-HI/A HUA T /82

A. Faa 1

B. %had 23R 3
C. aar 131k 3
D. 1, 2, 33 4

Answer ||| D

Solution ||| Statement 1 is correct as Thorium is 4 times more abundant
in nature as compared to Uranium which can be used as nuclear fuel.
Statement 2 is correct as Thorium fuel generates excess energy per unit
mass as compared to uranium fuel by factor of 30. Statement 3 is also
correct as Thorium generates small quantities of waste. We see that all
statements are correct, so best option is D..

41.9Rd & ITUAH ~IRTAT T TR i 8T g FqT TGl §?
(1). 3TUaH ~ATeT & ~grarehel &1 f@gfea #d g9 #aRd & Tseafd
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R & ATT ~Armeie & Far-fR{#st & gsar §

(2). 3TUAH ARTAT & ~RATEMRIT A haol HRA & JEI ~IRATENRT SaRT gerdm
ST Teha &l

(3). =ararEefiel & ddd ARd & dfad A W 3T gar g, 99 W)
faeTAFvsT # 39T FT AST ST BT &

4. AR & ITUTH ~A1ATed & JHET 3R HeAaiRal 1 @ef f@gieaar war
CaRT $IRT & HEY ~ArTeier & fur-faaAs & geard & &1 S g

3UYFT H O HIA-T/A HUT T /82

A. Fad 1311 3
B. shdel 33K 4
C. %ad 4

D. 1, 2, 33K 4

Answer ||| A

Solution ||| Statement I is correct as during appointment of Judges of
Supreme Court, President of India needs to consult Chief Justice of India
as per Article 124 (2) of Constitution but Judges apart from chief justice
needs to be consulted from Chief Justice of India. Statement 2 is incorrect
as Article 124 (4) described that Supreme Court Judges cannot be
removed from his office by order of President which needs to be
addressed by each House of Parliament that supports majority of not less
than 2/3rd of members of that House with voting in similar session.
Statement 3 is correct as salaries of Judges are charged on Consolidated
Fund of India which legislature needs to vote. Statement 4 is incorrect as
Supreme Court Officers and Servants make different rulings, where the
role of Government is actually nothing.

42 . ARAT HIGHTT GaNT Y&d ARG & HA holedl & foeAioiad & & &
g/e?

(1). AT d&pfa A Fogey favrad & @i

(2). TAEIfSTH AT A FHHASAR FIit T I&T

(3). aaTfeIeh FelGem 3R @isT & ATGAT FT AhT

(4). dafaas 3R AEffes Fdweral & F@f & #A Ichsedr & fov weT
i@ Fel & MUR W T 3R JAT:
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A. Faer 131 2
B. shad 2

C. %ad 1, 33K 4
D. 1, 2, 33K 4

Answer ||| C

Solution ||| Statement 1 is correct as per Article 51, every citizen should,
preserve the rich heritage of our composite culture with respect on ideals
such as National Flag and National Anthem. Statement 2 is incorrect as
protecting weaker sections from social injustice is not part of Citizens
Fundamental Duties. Statements 3 and 4 are correct as Fundamental
Duties of Citizen concerns with development of scientific temper and spirit
of inquiry and make every effort towards excellence in all spheres of
individual and collective activity, so since statements 1, 3 and 4 are
correct, so best choice is C..

43,75 AT faera 31fASI0T (DRDAS) ARA H AT YT 3 e el H
F A I o7?

(1). DRDAseY & $o fafafese Mos &bt & deradr Tor et & &9 # &
T gl

(2). DRDAsTafAfEse &t # fAeerar 3R HUIoT & FROT &1 A1 IeqeT
A ¢ IR 396 FAYS & &FEJd 33U R A Bl

(3). DRDASTAHAATET HRIhAT & THIE HRiTTaT=T g kel g ($e3-
YFERE) TUT HecRAHENT FH-aT=T IR T FIaTT X 2|

(4). DRDASfAIAAT-IEN FishaAr & far e FIv o R @a § 3R 38
FARIT X § o SoTepr gemmar 39Ter g

3UPFd H § HIA-T/A FUT T ¢/8?

A. &haer 1, 231K 3
B. shdel 33K 4
C. %had 4

D. 1, 2, 33k 4

Answer ||| B
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Solution ||| District Rural Development Agencies will take required
measures to improve awareness about rural development and poverty
alleviation among rural poor. It works with idea of monitoring and
ensuring effective utilization of funds which are required for anti-poverty
programmes, this states that statement 4 is correct. The concept of
District Rural Development Agencies is to secure inter-sectoral and inter-
departmental coordination and cooperation for lowering poverty in
district, which shows that statement 3 is correct. Statement 1 is incorrect
as DRDAs will coordinate with Panchayati Raj Institutions in certain
specified backward regions of country. Since only two statements 3 and 4
are correct, so correct option is B..

44,3 T R ToT T & & aifoier f fohe [Rufa/fee eufaat & @ae
%I FgFAdSH JATS ST §72

(1). @ryror Af-fAaor w1 aRa s & fufa &

(2). ¥1-TATH AT IR FA T FUfa &

(3). Gfgure gt f99ge & aRa == i fufa &

fFFfaf@d @et & 3MUR | & 3R gAw:

A. Fae 1

B. %had 23R 3
C. aar 131k 3
D.1,23k3

Answer ||| A

Solution ||| As per Article 368, the constitution amendment bills need to
be cleared by both houses. If there appears any disagreement among
both the Houses of Parliament on Constitution Amendment Bill, then joint
sitting of Houses of Parliament is not possible, so under such
circumstance, Money Bill need to be introduced in Lok sabha on
recommendations of president, so correct option is A..

45.9RAT HIAUT & TR, #R & Tsuld HT Jg eied ¢ fob 3 e=fafad
A O fhgel/fhetehl dHe & Yoo TR I@AIT?

(1). Tg faa 3mawEr fr [wier

(2). &t or@r gfAafa & gfadesT i
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(3). Ts-Agre@r WiaTe & YfddesT &l
(4). TE 3qqiaa Sfa 3maer & gfades &
fArfaf@d et & 3muR W & 3R g

A. Faer 1

B. el 23R 4
C. %ad 1, 33K 4
D. 1, 2, 33K 4

Answer ||| C

Solution ||| From the above statements, statement 1 is correct as
President recommends the Finance Commission. Statement 2 is correct as
President lead before Parliament as per report of the Comptroller and
Auditor General which is in article 151. Statement 4 is correct as NCSC is
as per article 338. Statement 2 is incorrect as Public Account Committee
is not there, hence correct option is C. since only statements 1, 3 & 4 are
correct.

46.fAmfaf@ad W faar HfFw:

(1). grcer TAT IERT

(2). A gRageT e

(3). FARR-IT 9iasaleT

(4). et Rfecar avas

(5). 39ged # ¥ g shis/fhed ghrsdl & HAAN, ‘FHAR T AT Aol &
Ioddld BIANSS FETT FHa<d Jed H Hehl 872

A. &haer 1, 231K 3
B. %hdol 4

C. &haa 1, 331K 4
D. 1, 2, 33k 4

Answer ||| D

Solution ||| Employees' State Insurance is self-financing social security
and health insurance scheme of India is integrated social security scheme
which gives social protection to workers along with their dependants in
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areas of sickness, maternity and death. Employees' State Insurance Act
applies to any establishment having atleast 10 or more employees which
can a factory or manufacturing unit. Also the facilities of ESI have been
extended to State Govts for shops, hotels, restaurants, cinemas, preview
theatres, motors transport and newspaper having more than 10
employees, so all statements are correct making option D. as correct.

47 IRHHAT 3T & Foedl # i@ el ) R Hifaw:

(1). aREAA AT & AT T R AT HA Gl AT & ST FehelT|
(2). IRENAA AT & 1A ST olleh HAT 3T T fIUT H; & FFAE @
Id &, d9 37 3Rl H PIg LM g1 fhar S dahdr|

3UYFd H O HIA-T/A HUT T /8?

A. Fae 1

B. shadl 2

C. 1 3R 2=t
D.adar 13k T &2

Answer ||| C

Solution ||| Statement 1 is correct as Delimitation Commission is a
powerful body whose orders cannot be challenged in court of law.
Statement 2 is also correct as when orders of Delimitation Commission
laid before Lok Sabha and respective State Legislative Assemblies, then
no modifications are allowed, so it is correct, so correct option is C..

48.9Rd & guUTHAT f fAgfed & qAg

A. ST AT & ToF 98 T8¢ & gleil Teal H  UH FI aeTHh & J TG &
Wed 3H TIAG & o] IaTeh & @ ol H § Teh ool H Tedd &l Silell
afew

B. ST gl ¢ b ag T8¢ & GldAl Aol # & THh & HaeTH ¥ F T @l
Wed 38 SAE & el dleh THT HT &g gl Sl dATigT

C. §HE &I gl Teal H ¥ Teh & HG2TH T H TGET glell dA1gT

D. 3aTsh & I dlch AT H &I glal d1igT
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Answer ||| A

Solution ||| A prime minister before his appointment should be member
of Lok Sabha or Rajya Sabha or can be a member of either of houses
within six months of appointments and should not hold any office of profit
under Government of India or Government of any State subject to
control, so this shows that option A. is correct.

49.'S1eTell FR&T ANSToll HTdsheA & TITE &

(1). AT 98T & Wcdred HLaT

(2). vgfa A ST dgA P& %T-or AT Y 3N AT 3Tl TR
(3). IHaEAT IR I F §F AA-gTA HT 3 HAT

3Uged H U HA-A/8 FIF TE §/8?

A. shael 131K 2
B. &had 2
C. %da 3
D.1,23Rk3

Answer ||| A

Solution ||| Janani Suraksha Yojana (JSY) is an ambitious scheme
launched under the National Rural Health Mission (NRHM), the
Government of India’s flagship health programme. The scheme is
intervention for safe motherhood and seeks to reduce maternal and neo-
natal mortality by promoting institutional delivery, i.e. by providing a cash
incentive to mothers who deliver their babies in a health facility. There is
also provision for cost reimbursement for transport and incentives to
Accredited Social Health Activists (ASHA) for encouraging mothers to go
for institutional delivery. The scheme is fully sponsored by the Central
Government and is implemented in all states and Union Territories (UTs),
with special focus on low performing states. There is provision for roping
in the private sector by giving accreditation to willing private
hospitals/nursing homes for providing delivery services. The wage loss
scheme is IGMSY. The correct answer of this question is 1 & (2). The two
schemes, we have compared many times.
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50.c01eh fATY & thellcdrees 3R MR YT &l FIETT e & AY-Y AR
H as-Age@r adigTe (CAG) & AT & Hged AT 87

(1). CAGHHE, FI IR & JSThIY WX IA0T I@AT § I AR & Isgafd IseT
3ma/fai 3maa efva e g

(2). CAGHT FATeT @R didifedd IRAISTATIHT AT FRIFAT W I R 1w
gfdear 9 olieh o TfAfA Tar-faaer adr g1

(3). CAGH gfddcall & fFell IRl & AR W SAraedl TSiaar 3«7 o6 &
faveyr IR i@ R Tl ¢, Sesiad dler AR gaeueT & Felad a1 Secds
T gl

(4). CAGHI 0T Afaa =Re+ afeaar urcad § & TRl Feufaar & or-
TIET 3R ol Siad @AY d§ Flefel 1 Sooldel el dlal W TAANT o6 Heh |
3UYFd H O HIA-T/A HUT T /872

A. Fad 1, 33 4
B. &had 2

C. haer 231K 3
D. 1, 2, 33 4

Answer ||| C

Solution ||| The Comptroller & Auditor General of India plays a key role in
the functioning of the financial committees of Parliament and the State
Legislatures. He has come to be recognised as a ‘friend, philosopher and
guide’ of the Committee. His Reports generally form the basis of the
Committees’ working, although they are not precluded from examining
issues not brought out in his Reports. He scrutinises the notes which the
Ministries submit to the Committees and helps the Committees to check
the correctness submit to the Committees and helps the Committees to
check the correctness of facts and figures in their draft reports. In this
question, correct statements are 2 & 3

51.HENENRT $T IFENRIT §¢ @1 @1 ¢| T§ "o 4l fedr &1 fawa g2
(1). $feagdr qreuceds $r geftr AR FaENTaAr gfdhe &7 & garmiad gl
(2). garel-fAfT &1 gefr 3R 3aehfadar ufdse €9 & wenfad gaf|

(3). T arofl, [Sas 3Fsew deucaadid gid g, F STENfaar yided &9 &
gaTfad grem|
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(4). Ag dietel AR AGT #T T Tidehel & @ FoIIAT g
39YFT H A FIT-Q/F FYA T 6/e?

A. Fad 1, 231X 3
B. %ad 2

C. dhadl 131k 3
D. 1, 2, 33K 4

Answer ||| D

Solution ||| Statement 2 is correct as increasing ocean acidification will
significantly reduce ability of reef-building corals to produce their
skeletons. Statement 1 an3 are correct as calcareous phytoplankton with
larva will get damaged with their shells weakened, hence correct option is
D..

52 . FAIAAT g2l T g ¥ 38 96 & Ty dIHT H ey gl
g, FifFH

(1). argAUSS gl & TAg A Shdel U &I 3R I g Fehell ©

(2). 9% argHAvSE F AT AU g ¥

(3). 3W AFAUSH H gaT A Al gl &
fArfaf@d Fet & 3MuR W ey W gAv:

A. Fae 1

B. %had 23R 3
C. aar 131k 3
D.1,23k3

Answer ||| A

Solution ||| Statement 1 is correct as temperature will decrease when
height increases as the air near surface gets heated which become lighter
and the higher air gets cools and becomes heavy. Statement 2 and 3 are
not correct as water vapour forming 1% of air varies in troposphere and
will decrease fast with altitude, hence correct option is A. since only
statement 1 is correct.
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53.999 39 @HATeT & IET e, df 39 HeaAfaf@d o qua:

(1). 78X Tss

(2). = gATE arer FEr-ATeT

(3). FHAETR gad ot

(4). TG & TAT IR N STl JGoTaT

3UGFT A § -8 BATGI & q201 afdd 9dd (Fdiel FHISER Ydd) & IET de
ST Tohd 87

A. Faer 131K 2
B. had 1, 231K 4
C. had 331K 4
D. 1, 2, 33K 4

Answer ||| D

Solution ||| Fold mountains results from collision among landmasses
which makes point of collision to rise high and forms a mountain.
Himalayas are folded mountains as they are formed by folding of rocks
along the edges of continents due to force, pressure and collision. Further
High Himalayas have rivers with steep gradients that appears from
differential uplift of Himalayas where parallel ridges are located, so this
makes 1, 2, 3 & 4 correct, hence option D. is correct.

54.9Rd Fr Heafaf@d s )W AR SIS

(1). Harshell

(2). fae

(3). STeRT

3UGFT A @ HIA-H/A GHEAAT aN-3HTETRT B 8/87?

A. dhaer 131X 2
B. ohadl 23iX 3
C. %dd 3

D.1,2 3R 3

Answer ||| D
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Solution ||| Sesamum is rainfed crop which is grown on marginal, dry and
slopy lands, so it is correct. It is noted that maximum area sown to
groundnuts in India is rainfed which depends on summer monsoon
rainfall, so is also correct. There are many rainfed cereals in India such as
sorghum , pearl millet, Finger Millet, so it is also correct, hence correct
option is D.

55.9Rd &1 AEHAAT & Wegel A, Fafaf@a Fu«t ® TR fifaw

(1). A & a2 HT Fel Hiafern T I T B Jolell H ORI
7 3% 3ifhd g

(2). IR 7 TET A T Fol HioMToIF &1, Ao A & Tl
fimfos &7 ¥ 31¥s g

3UYFT H § HlA-T/A HUT T 8/8?

A. Fae 1

B. &had 2

C. 1 3k 2=t
D.dar 13k T & 2

Answer ||| A

Solution ||| Gujarat comes on top among largest amount of landmass
identified as wetlands as compared to other Indian states. It accounts for
17.56% of state’s geographic area as wetland as per National Wetland
Atlas, so statement 1 is correct. Statement 2 is incorrect as from the table
shown, we see that total geographical area of coastal wetlands which is
25% is less as compared to 43% area of inland wetlands.

56.fFATaIId ®Rer WX faar ST

(1). 92t & 3adeT

(2). ag &9 AR gar

(3). AGERRIT STel &I Helcd

4. Yedl T ARHAT

3UPFT H O HlT-8 FRb HAFEERIT URIT T Jfdd Fd 82
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A. Faa 131 2
B.1,23R 3
C.13R 4

D.2,33R 4

Answer ||| B

Solution ||| Ocean currents are caused due to wind, density differences in
water masses, gravity, and events such as earthquakes. They are
equivalent to winds in atmosphere where transfer of heat from Earth’s
rotation appears, so statements 1, 2 and 3 are correct, hence option B. is
correct.

57.9Rd Fr Arafaf@d wae W R fIfFw:

(1). afe=r

(2). Har

(3). X

3UYFd H § HIA-T/A geIgeT, IRT A g Tie & FI H YT BT g8 672

A. dhadl 131X 2
B. &hdel 2

C. shael 131K 3
D.1,2 3R 3

Answer ||| D

Solution ||| Cowpea is a kharif crop which is used as pulse, fodder and
green manure crop, so 1 is correct. Green gram is a pulse crop which is
rich in proteins, which is also used as pulse, fodder and green manure
crop, so 2 is also correct. Pigeon pea is a food crop which is used as cover
crop, green manure, inter crop etc, hence it is correct, so the best option
is D.

58.87c 1 Toh AV Tod el favansid & ged ¢
(1). Ig 397 3787187 X Ty g, S 398 o€y § g ST gl
(2). 3THT 80%T 31MAF &F TeT AT &l
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(3). 12%%° JF TAoIed &9 39 AT & Iald &9 icdsh & ¥7 H gl
frfaf@d Tsal # @ Hla-a1 Th IR & 1S gt fAAwansi & Fora &2

A. 3T 9&2r
B. 318H

C. fRATaer year
D. 3TRM@Us

Answer ||| A

Solution ||| Himachal Pradesh is located at north of Rajasthan at different
latitude, so it is incorrect. Option A. is correct as Arunachal Pradesh lies
on similar latitude with more than 70% area under forest with 15% of the
total forest cover being protected by Department of Environment and
Forests, which was declared as Protected Area. Hence option A. is correct.

59.faFfafad & @ Fa-dr AT @A H vog@ FAwar g2

A. STl 3R TieF et FEAT 1 AY-ATY el
B. &l a1 ar ¥ 3 I&AT Fl U gf Wd & 3T
C. T[UTele 3R FEI-3cUIe HT Teh Y HTeAl
D. 39ged # & &S wgr

Answer ||| C

Solution ||| Mixed farming featured cultivation of crops with
domestication of animals which together generates income, which makes
statement C. correct. Mixed farming involves cultivation of arable crops
like wheat, barley, oats or rye along with industrial crops like sugar beet,
hops, tobacco or flax, which makes statement A. incorrect. In mixed
farming crop along with animal is done on similar piece of land, so option
B. is incorrect.

60.9Rd TR AT THAT F T A WNearfed HT W &1 5T 9T T &7
g g7
(1). IE FGT-EROT & FHAA0T H WG § 3N ASELeN T I UehT &
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(2). I SIS & Th FHY Al &

(3). 38F UV AT glaT & AR Ig 3T Joran arel 33 &A1 # Sifdd T &
faT srel-Hif sregpfora giar gl

4. 3EH AR dH3Y & 3o aifvifods Hed Bl

39dad # O HlA-HI/A HYUT FET 81872

A. Faa 1

B. dhaer 2, 331K 4
C. 3aer 131k 3
D. 1, 2, 33K 4

Answer ||| D

Solution ||| It is a plant which grows near sandy soil along the rivers. The
shrubs are used for soil and water conservation. It is applied for natural
medicine with its harvested fruit containing acid. It is rich in vitamins C.,
A., and E with high commercial values, so option D. is correct.

61.9RdT F@igue & fArafaf@a & & Sla-8 grau fRam w gea sred 82
(1). U5 &1 ANfd & fAcers g

(2). TEoT AR Tl T e

(3). TUH T

(4). v eI

(5). TCaH eI

fArfaf@d get & 3muR W & 3R gv:

A. Fae 131X 2

B. &had 3, 43R 5
C.%adl 1, 23k 5
D.1, 2,3, 43R5

Answer ||| D

Solution ||| It is seen that Preamble of Constitution of India declares
concept of justice, equality of status and opportunity and dignity of
individual along with education provisions having bearing on education in
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Fifth, Six and seventh Schedule along with Fundamental Rights, Directive
Principles of State Policy, Fundamental Duties, Rural & Urban Local
Bodies, Scheduled & Tribal Areas and Centre-State Relations, which
makes option D. correct.

62.9Rd # I 3cUTeed Hehol i’ H 31 Hel 3NN & Heehlehl
TIFd AR 37-90%¢ | AT H @ HlT-@ 39T 37 3776 Hel e
afEAfaa &2

(1). A=

(2). 3R+

(3). i AF

(4). ReEr 3cure

(5). gEAEINT

fAmfaf@d set & 3muR | @& 3R gAv

A. shdel 131X 5

B. ohadl 2, 331K 4
C.%ael 1, 2,3 3R 4
D.1, 2,3, 43R5

Answer ||| C

Solution ||| Eight Core Industries has 38 % weight of items in Index of
Industrial Production. Among the following options, the Eight Core
Industries are Cement, Fertilizers, Natural gas and Refinery products
which is option C..

63.31% fawrd & FFagy STedifhenld HhHAUT I frataliad fafise sraeamait
R faar fifaT:

(1). A Fog-ax & @Y et S=a-e3

(2). 3z Fcg-&I & Y 3= SeH-aT

(3). AT Fcg-ax & @Y 3T A

ARy fQU el dr TERIAT @ IUFFd AT FI TE HA AT
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Answer ||| C

Solution ||| Economic Development relates to better living conditions with
detail on low birth rate and low death rate. It is found that for good
demographic transition due to lowering of birth rate, death rate, total
fertility rate and infant mortality rate. So the correct order could be High
birth-rate with high death rate, High birth-rate with low death rate and
Low birth-rate with low death rate, so it will be option C..

64 3TN SedleTd & Teedl H, Hfaf@d sy« W AR fife:;
(1). TraTel SanrT oeTeT HIY THR I G ST 27|

(2). TR {Td & 9 &ar A

(3). T I & Yd A &1 FEI0T HR FHoa-fAuRor fehar Sar ol
3UYFd H 8 HIA-T/A HUT HEY g/8?

A. Fad 1

B. had 131X 2
C.1,23R3
D. &5 o 7gT

Answer ||| C

Solution ||| The Ryotwari Settlement concerns with annual agreements
which was made among cultivators for sake of Pattas. Further it is noticed
that Government was Landlord and peasants were Land Owners which
possess patta by paying annual cash rents, making statements 1 and 2
correct. Statement 3 is also correct as and revenue was assessed as per
fertility of land where average assessment in cash would be Re. 1/acre.
We noted that since all three statements are correct, so correct option is
C.

65.1932F HgIcAT e & FAOTIIed 3YarF J=IdT SqTav har &
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A. 3T, AT T[T HRAT JSTeAlTcIsh RT3 PN Tt PA H IHTHA g5
B. 9 3N HREFH olleT F HA-Heatar &

C. Wl HAwsldlos o e iAo (Fgaer vars) $r aiyor &
D. 38 Heady & 39gFd (A), (B) aur (C) &=t # & *is o gl «igT ¢

Answer ||| C

Solution ||| Mahatma Gandhi undertook fast unto death in 1932 as
Ramsay Macdonald declared Communal Award in 1932 which concerns
with reservation of seats for Depressed Classes along with Muslims and
Sikhs communities, which makes option C. correct.

66.=faf@a & & Fia-d R_RAT dRT & s fog w FadT AIF0r W &
HIH 31T 87

(1). §¥e & FE@ aTi¥e fad faevor 1 g&qd far S

(2). AfarseT fadgs & TRd gl & a1g & 9Rd 1 dfad @i @ Fqar @wrer
YreT

(3). 3AYIF 3TICledl TAUT IMIeeled I e

(4). THET dic AT GaRT HATSEIA 1Y YATTATA! TUT <TF g THR
hRISHH HT Ueh ATl YT HH-T-he AEIIHT Joldollchel

(5). G¥e # fad fadges &1 weqa fhar ST
fArfaf@d Fet & 3MUR W Fer W gAv:

A.Faa1,2,33R5
B. haa 1, 231K 4
C. hadl 3, 431k 5
D.1, 2,3, 43R5

Answer ||| A

Solution ||| As per the constitution of India, statements 1, 2, 3 and 5 are
correct. Statement 4 is also correct as programme of Government against
macroeconomic forecasts and expenditure is not Parliamentary Budget
Office that is as per provisions of Fiscal Responsibility and Budget
Management. This act requires that review in trend of receipts and
expenditure to be undertaken in relation to the budget on a quarterly
basis.


http://www.gradeup.com/

¥

www.gradeup.co gradeup

67.[aAATT 87 F AFE FI AT Il & ToIU IR PR o Did-Al oI5
shifaera uger $r 88?2

(1). T~E faaer aar [_fasAor eEr & warger

(2). ‘Toher T@seh Hor (FaTer fasT Fellai®) T giaem gered sl

(3). SicAfaehr HAIgoT AT G IV H TA9AT

fArfaf@d et & 3muR W & 3R g

A. Fad 1

B. &haer 23iR 3
C. shaa 131k 3
D. 1,233

Answer ||| D

Solution ||| To promote the growth of manufacturing sector in India, the
Government needs to set National Investment and Manufacturing Zones
and should provide work at single platform. Government should keep
separate fund for promotion of manufacturing sector, hence all three
statements are correct, so correct option is D..

68.fArAfafld & @ Hlef-Al HeTRIAN/3FIAAT Wed e AT i gease
fafRrsean/fafsean §/87?

(1). IEG3T T QaT3T W HT (CFH) MU ST 1 3AfART TAUT 38 FEAAd
HAHeT & HUoeh § FFaCY &ffdqfc Jehol

(2). AR & SIelifehehld SN & 3eT&T ATl &8 asi # oGl AlhRAT Fofel
el T FloTell

(3). FrT F & Teh AR 372 1 FARNT FHRIT FF 36ER & ®7 7
gEdTecRoT

fArfaf@d Feb & 3MuR W Fer W glAv:

A. haol 1
B. shael 23T 3
C. had 13k 3
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D.1,23k3

Answer ||| C

Solution ||| Statement 1 is correct as 13th Finance Commission detailed
about the design for Goods and Services Tax. Statement 2 is not correct
as 13th Finance Commission Report explains about enhanced
implementation of existing schemes. Statement 3 is correct as 13th
Finance Commission Report mentioning demand of local bodies for benefit
from central taxes and supplementing resources of panchayats by grants-
in-aid. Since statements 1 and 3 are correct, so correct option is C..

69.UNDP & #&d & ‘Jiamrs Atedr vd #Aeia s dAqea garn fasfad
Tg-3MATAT Aot goohier & fAefaf@d & @ Fla-ara afFafad g/e?
(1). gRaRe TR 9 e, Tareey, geafa aur dansid & aad

(2). TET TR W Hg-2AiFd FHAT

(3). TET TR WX dole °1e T AT 3R GDP & 9o &X

fArfaf@d get & 3muR W & 3R gT:

A. Fae 1

B. %had 23R 3
C. aar 131k 3
D.1,23k3

Answer ||| A

Solution ||| The idea behind Human Development Index created by
Oxford Poverty and Human Development Initiative with UNDP support
basically to find Standard of living which was shown by natural logarithm
of gross domestic product per capita at purchasing power parity. This
index measures standard of living based on deprivation of Cooking fuel,
Toilet, Water, Electricity, Floor, Assets, which makes only statement 1 as
correct, hence option A. is correct.

70.'UsERT Ao Ieifaer AR arefior T AdET & sreifaer fAdear &
JURA HT fhd JohR JIH HIAT 872
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(1). Fm#AioT &7 # 98 HEAr H AT [ATAAOT 3eer qUT HiY MR dheg TS
FH

(2). "ET WA WHEI I QA e 3R wierel faepre & glaumd ger
FH

(3). F9H H e dieT, 3N, Sotel TFI-He AT FY-FFAE FIT I
fFFfaf@d set & 3MUR W §E 3R gAw:

A. Faer 131 2
B. shad 2

C. 3aar 131k 3
D. 1,233

Answer ||| B

Solution ||| The idea of National Rural Livelihood Mission is to lower
poverty among rural by strengthening ‘self-help groups’ and arranges skill
development, promoting self-employment, opportunities for wage
employment leading to sufficient income, which makes option B. correct.

71. e ARt A @ Hld-8 AR & FidU ganl ToT FHT Hl Jed
o S 82

A. TSI & AT ToTEIT IRATAd T 3T ToT &7 A1 IRAfd el

B. T8 &I, Tod gdl # A sa= 3R v 3rar veitss 31f8d AR darsit
1 Folol el & TRAFAGAA & TAIT Teh FEATT TR el

C. Trsgufd & foiaTeel-gishdr # FMeeT i 3N Asgyid & Adi=Aghd & qeard
3T e TR e

D. I AT & fohareherrdt &1 fUROT & 3R YoATa 3wt T JEdn
fauiia &

Answer ||| B

Solution ||| The Constitution of India grants some special powers to Rajya
Sabha which lead to passing of resolution empowering Parliament to
frame laws in State List is correct while creations of one of more All India
Services is also correct, so option B. is correct.
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72 . fArafaf@a & @ fFa galt i TUIEr 31, ieRTa 3asH o Fr A
(1). disicH UUs gy 9rel 3w sf3ar

(2). 3T ST3AT [Asges FHiecH Hhsiew

(3). sf3use Jdax uref

fFFfaf@d @et & 3MuR W ¥E 3R gav:

A. Fhael 131X 2
B. &hder 23iR 3
C. shaa 131k 3
D. 1,233

Answer ||| B

Solution ||| Statement 1 is incorrect as Peasants and Workers Party of
India founded in 1947, in Maharashtra by Tulsidas Jadhav, Keshavrao
Jedhe and others. Statement 2 is correct as All India Scheduled Castes
Federation which comprised mainly of Scheduled Castes was founded by
Dr. Ambedkar at Nagpur. Statement 3 is correct as Scheduled Castes
Federation is a successor party of Independent Labour Party led by
Ambedkar.

73.HRAT TITAAT 3egieled & AT, AT ATATToTh TFHolel (sI2sTel TreTel
Flehied) T ISeT [hAT IAT AT| ST IS o ToIT FAGRIT HROT AT

A. ST & & fafdeet ArAfoeh UR Ju/deres Rl U H R Thid gl
AT g H ATIT WPR & FHET TEJ Pl U6 A

B. IR TUSET HH 30 HRIHHA H HANSD GURT I 76 W1 Arganr AN
ST T 36620 & ToIU 3He 37091 @ IS Sellel ol FoATd feam

C. TEHST AT’ 3R T, S, T8 + I Hegd fhar fr gor & a#ed
AT FUR Al HT Teh HISA & Hecdd ol ST

D. 39g#d HeedT A fahed (A), (B) 3R (C)# T a1¢ aeFaey & &S o wer =7gh
g

Answer ||| B
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Solution ||| Statement 1 is incorrect as “appropriate
petitions/representations” were political functions which was not part of
National Social Conference. Statement 2 is correct as Congress in 1885 in
Bombay, R. Raghunath Rao and M G Ranade addresses congress on social
reforms. Statement 3 shows that the objective of National Social
Conference leads to strengthening of reform by bringing together every
representatives of associations, while names in the option given are not
supportive as Behram Ji and Malabari were involved in Infant Marriage
and Enforced Widowhood, hence it is incorrect. So, the correct option is
B..

74.1919% ¥R 8- HfRAfags & Aeafaf@d & @ Fla-a v
farQryar/fadyan g/&8?

(1). Iledl Fr FRAFMNOT TER H GaU-ATHA FHI JaedT

(2). HHAET & AU G AEverds Harash-Husdl HT cqaed
(3). Fog GaRT Tledr & faunfRer afdq &1 gedearor

fArfaf@d get & 3muR W @ 3R gAv:

A. Faa 1

B. had 23R 3
C. hadl 13K 3
D. 1,233

Answer ||| C

Solution ||| Statement 1 is correct as system of Dyarchy was introduced
in provinces where provincial subjects were divided in Reserved and
Transferred. Statement 2 is not correct as first statutory recognition of
separate electorates for Muslims was covered in Act of 1909 and not in
1919. Statement 3 is correct as the Act 1919 gave legislative powers to
provinces for framing rules for devolution of authority among Centre and
Provinces with prohibition on judicial powers. Hence correct statements
are 1 & 3 which makes option C. correct.

75.TSE AT TS TR o Hoady H, TRIEIT HHACAS FarEeg Hriehr,
3T (ASHA) & 1 Aeafaf@a & @ sia-a 82
(1). T2l o goa-qd STl ST & T Tareey JIaur sheg AT o Sl
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(2). THTEAT & IRTFHS HHIA & v arsiTaeer qleor fehe gaiter e
(3). WINUT Tg GieREToT & fawa & FEer e
(4). I=I & GG Al

(5). AFfaf@a Fet & 3R W A 3R g

A. Fad 1, 23X 3
B. &had 23R 4
C. 3aar 131k 3
D. 1, 2, 33K 4

Answer ||| C

Solution ||| National Rural Health Mission under trained female
community health activist ASHA will trained to work among community
and public health system. The idea is to create awareness and give
information to female community on health related to proper diet,
nutrition, sanitation, healthy living which makes statement 1 and 3
correct. Statement 2 is also correct as detection of pregnancy with
pregnancy test kit is not work of ASHA, but Government introduces rapid
home pregnancy test kit to check for pregnancy which is made available
across all rural areas. Statement 4 is not correct as delivery of babies in
not the work of ASHA, hence option C. is only correct.

76.1939F #9¥ HFAAUSH o 1T Tedl H 9T ¢ fear ar, Faife

A. FEH 3T IR Uedl & AFAUST A8 &1 gs oY

B. T H ‘IGIHUET & 3T & ANAUSST &7 FRT &l Tehedl ITFHT & I1AT AT
C. 357 Yledi ﬁqu 318 aFveIife 3renfea o

D. 39d&d &Yt (A), (B) 3R (C) # & &1 o Wel 7igT ¢

Answer ||| D

Solution ||| When Viceroy Linlithgow declared war of India with Germany
on 3rd September 1939, then Congress strongly objected for war without
prior consultation with Indians. So all members of Congress party decided
to resigned from provincial and central offices. With this option D. is
correct while other options A., b and c are incorrect.
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77 A0R, gids 3R 9 §

A. SR 3UHETCAIT & ol HTT ST THg

B. it HE&T HIWT 91, ToieTdl IR & oi3il ot fasreraifenar Sir dehe &
C. #RT Afeey areg &1 i geg Afear

D. #iRd & yafad die #&T Ffid &=

Answer ||| C

Solution ||| Nagara, Dravida and Vesara are three main temple
architecture styles in India, so option C. is correct.

78.AFATAET H & HlT-Q FHoAc: "FATRN AT & 39T &g ST Fehol 87
(1). I-dfeher faefr speafaat @ fher w1 sgafa vee s
(2). T3 et & wordT [Srer Arerer afafaar afed aer

(3). SHA-FAELT W TIHRT T H Tl hlell

(4). Q1Y T HISTel' TISTelT I JATFADIIT I

fAFfaf@d &et & 3MUR W §EY IR gAv:

A. hael 131X 2
B. shdel 33K 4
C. &haa 2, 33K 4
D. 1, 2, 33k 4

Answer ||| C

Solution ||| Inclusive governance encourages development of agriculture,
education, health and social welfare through government funding
resulting in fast and sustainable growth. Now considering statement 2, we
see in last many years, Government laid various steps in strengthening
district to plan by funding by introducing certain programmes involving
Sarva Shiksha Abhiyan, National Rural Health Mission, District level Plans
etc. Village panchayat through rural programmes plans and execute
programmes using certain agencies and programmes in urban
development plans were executes by Central Government funds, which is
correct. Also we see that statements 3 & 4 are correct, while statement 1
is incorrect as Inclusive governance cannot force financial institution to do
banking, so correct option is C..
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79. 9/ AR sfaerd & Tegdl H, Frafai@d # & Sia-ard diey ga iR
SieT ¢ gl § WARS &7 § faegAeT and?

(1). a 31T oot & 3T F1 IRER

(2). AE-JTHTTT & i 3=Treem

(3). FHPUST A Helgar FI Ao

(4). FFfaf@d &et & 3MUR | & 3R gAw:

A. Fad 1

B. &haer 23iR 3
C. shaa 131k 3
D. 1,233

Answer ||| B

Solution ||| Statement 2 and 3 are correct as Jainism and Buddha
rejected the authority of Vedas and efficacy of Vedic rites and denied
authority of Vedas and need of sacrifices and rituals, hence correct option
is B..

80.9TfwTHIellT 8N # g5 dailfeish TN & Fead H fArAfaf@d & & Hla-8
FYUT HEl 872

(1). 92 Ut SEdr 7 R/ffied ypR & [Aftse e 3SRT &1 39=er 3me 2T
(2). e et SHA & INFH H AT WR F e Reh 3 HT JIRIOT Y&
g1 T ATl

(3). 9iTdr et $HAT F HIOT & AT A ReHled AT 2T

(4). ETCAET QU SHAT F ThrT TS A U AT AT

fFFfaf@d et & MuR W ¥ 3R giav:

A. Fad 131X 2
B. &hael 33K 4
C. &aa 1, 33t 4
D. 1, 2, 33K 4
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Answer ||| C

Solution ||| Statement 1 is correct as in ancient India, Sushrut, first
surgeon used S type and U type surgical instruments which worked out in
BC which was prior to 1st century AD. Statement 2 is incorrect as
transplanting of organs in human body was started at the time of
Sushruta in 1st century AD where from flaps of nose skins, he replaced
other parts. Statement 3 is correct as sine of an angle was known in 5th
century AD by Aryabhatta’s Surya Siddhanta. Statement 4 is correct as
idea of cyclic quadrilaterals in 7th century AD was analysed by
Brahamgupta. Hence since three statements are correct 1, 3 and 4, so
correct option is C..

81.3=ReT # &g & fh.#l /4. & a1fd & Irr X @ faega-3maeh wor afe
gedl & eIde W q§u AT, ot Sha-STeq3il &1 IR Jehdre q§q| Thd &1 A
HUT fRE HROT A G2l & ERIAe W AT UET UIA?

A. gEat & grEaehrT Afed 3¢ ¢l HT R Al & §

B. & & 3¢-fIE &1 NS W 3% qET HeaRar F wafda & ¥

C. IGAvSH HT IR Rl # ITRYT IEAT 3eg JTAT & LRI T G Tgad
ol

D. 39d&d &Yl (A), (B) 3R & (C) & *I o @l =gl ¢

Answer ||| A

Solution ||| Electrically charged particles while travelling at much higher
speed from space cannot reach to Earths surface because of Earth's
magnetic field which diverts such particles towards its poles, so this
shows that option A. is correct.

82. 3w Aeafafad & ¥ fha/fra aRaeaAraRaeamst &I seAmws & ko)
faTaRvs & @6 F §7 H 37Yd A 82

(1). 3eaReT # FEATLEN 1 3UEATT &1 qar el

(2). HeaRer # EAFe aRuear &1 Hadliest

(3). 3ediReT H &fgargl & arfd

(4). 3=aRel # GUR=ATaT ATt H1 gl

i@ Fel & MUR W T 3R JAT:
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A.13IR2

B. %adl 2

C.1,33k4

D. 3udad # & IS off WeT & &7 H 3¢Yd g1 AT ST Heball

Answer ||| A

Solution ||| It is noted that Redshifts in spectral lines of distant stars
initially was observed in 1926 attributed as phenomenon to expansion of
universe, so statement 2 is correct. In 1963, while working on satellite
designed two scientists realised microwaves which they tested through
satellite's antenna and found mysterious microwaves, so statement 1 is
correct. Statement 4 is incorrect as supernova explosions helped
astronomers to find distance of galaxy and redshift of it, hence correct
option is A..

83.5hedel AAT AR F dAfAR gof, [FTHH HRAT dannfae o wiFafad

¥, o Ue-EIfoad Feger & T #H a0 AR UfE-ged 3cdeod [ohaT| Ufe-ged 3cdeot
A I FIT/FIT-FATTageTT/fageT 8/8?

(1). 3g 3R qdaror R aa &1 @ F A4S rEe W FA AL T A
(2). g8 g @ RAfAT art 3R 3MFREENT & gl H GFEEar & ST wa
H HgrIeT gl

(3). TE SEAUS & Ak A A [Ghfad w0 H Ggraes gl

fAFfaf@d &et & 3muR W @ 3R gav:

A. Fad 1
B. &had 23R 3
C. %da 3
D.1,23k3

Answer ||| D

Solution ||| Antimatter is a material having similar mass as particles of
ordinary matter with opposite charges. Anti-helium nucleus makes
mineral prospecting and simple oil exploration which often reflects that
existence of stars and galaxies are probably by anti-matter which helps in
understanding evolution of the universe, so it makes all three statements
correct, so correct option is D..
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84 . AFfoiad ¥l X AR Hifa:
FARIFLIHRIBIS, ST JHISiIA-ETr S Yerdl & &7 H °fdd g, 3eTehr v
(1). gued BIF & @#AToT & g &

(2). TIFAE TR & AT # glam §

(3). ¥© fafdse gewcliaeh razat T THE T H gl &

(4). QAT el H SIThRT Tole & & H gl g

39dad # O HlA-HI/A HYUT FET 81872

A. Faa 1, 23X 3
B. &ad 4

C. &ad 1, 33T 4
D. 1, 2, 33k 4

Answer ||| C

Solution ||| A chlorofluorocarbon is an organic compound typically
consisting of chlorine, fluorine, carbon , and hydrogen. They are typically
used in foam blowing, precision cleaning, air conditioning, refrigeration,
propellants and pressurizing agent in aerosol cans. We see that only
statement 2 is incorrect as chlorofluorocarbon doesn’t involve in
production of tubeless tyres, while statements 1, 3 and 4 are correct, so
correct option is C..

85.31F X GGl # o arell TH RIS Foed H, HeATolida & & @i
1A HUT T o/a?

(1). T&H PIARIT dhadd TIAIRY Sal & & 9red Hr 1 Ferar B

(2). ®F FRFT a3 9t & waa F v g36r it a1 gadr E

(3). TH HIRAT RAfFcar N & T ga@er f& o1 Fordr B

Preafafld T2t & MR | T 3R g0

A. dhaer 131X 2
B. ohadl 23iX 3
C. %dd 3

D.1,2 3R 3
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Answer ||| B

Solution ||| Stem cells are mother cells found in multicellular organisms
which can differentiate into specialized cells that divides to produce more
stem cells. It can easily repair and replace tissue in human body since
these cells have power to heal. These are unprogrammed cells known as
pluripotent stem cells that begins with embryo and specialised to creates
bone, muscle, skin, heart, brain specialized cells. We see that statement 1
is incorrect as Stem cells are not only derived from mammals, while
statements 2 and 3 are correct, so correct option is B..

86.°NIT # 3T AT Wl § TgaT AT (of3) T & AT gIfeishceh &1 dgier
H O &7 9T gfaefeyd g & g ¥ 39 O $T [AWeddr 3cdeed i arol
AT ld-HlT T §?

(1). W3TeleT ST

(2). 97 (Fer#) 3R dfFer

(3). e

4, HA Al Ud JATHT HTHTIAT

fArfaf@d et & 3MUR | F@Er 3R gAw:

A. Fael 1, 23iR 3
B. &had 131k 3
C. %aar 23X 4
D. 1, 2, 33 4

Answer ||| A

Solution ||| Lead poisoning result from presence of lead in the body as it
is highly toxic metal which acts as strong poison. It is present in lead
enamel paints and toys. Apart from this there are various sources of lead
like bullets, curtain weights, pipes, sink faucets, paint sets, art supplies,
jewellery, pottery, storage batteries, old medicines. This description
shows that lead is present as mentioned in statement 1, 2 and 3 and not
in 4, so correct option is A..

87.9ThIeT 3ToTehel WIT: FREAT H @ &1 SHRT FAT Hewd o7?
(1). 98 U gfa-3marel uerd § 3R 3Hr faegd drelehl 39 g
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(2). 9& IS O S T FGH I fheq Ta@ AfFARmel gert & & g
(3). 9% qUId:fafeeled @ &= gIar & 3R 3@l M8y IRGRIar 3= gl gl
(4). 39% eI &, LCD 3R sefas LED & fov ‘arele Soloels & &7 &
STAATS fRaT ST TRt B

39ded # ¥ Hl-8 HUF FET 872

A. Faer 131X 2
B. had 1, 231K 4
C. dad 1, 23K 4
D. 1, 2, 33K 4

Answer ||| C

Solution ||| Graphene is carbon allotrope with single atomic layer of
graphite having tightly bond carbon atoms. Due to hybridisation and very
thin atomic thickness, graphene has high strength and has high heat and
electricity conductivity. It is an alternative to indium tin oxide which can
be applied as transparent conducting electrodes. From this description,
we see that statements 1, 2 and 4 are only correct while statement 3 is
incorrect, so correct option is C..

88.3Tel YHIUT YU # TRINIEAT (Teer-arele, UV) Tafehior &1 & syfaen
g?

(1). Tg T F 3UREUT THARIeE Gasnar 1 AfSFa/Ase F & ¢

(2). TE ot 3uTeyd @l 3T et # gy W & B

(3). I§ STel H 3UTEAT SN HUIN & HAHGe &l dol Al &, ATTdeldl T Al &
3R ST i Feterar F quR @ 82

39gFd A @ HlA-AVA HYT TE B/E?

A. &hae 1

B. shdel 23iR 3
C. hael 131K 3
D.1,2 3R 3

Answer ||| A


http://www.gradeup.com/

¥

www.gradeup.co gradeup

Solution ||| Ultraviolet radiations are used in purification of water as it
provides safe solution for chlorine-resistant micro organisms that causes
thousands of health diseases as with this, the frequency of killing micro-
organisms will be around 254 nanometers. It does not remove any
contaminants from water like metals, salts, chlorine or pharmaceuticals
and will result in changing the taste, odour or colour of water. It shows
that statement 1 is correct while both statements 2 and 3 are incorrect,
so correct option is A..

89.SNTHR IRARIUT I XA H Foll Hhe o URUIT (TECaAedl) goll H & Tah
HST ST &1 59 Tocdl & HT-T1/a FUT TE 8787

(1). RIS HTEROT HITBell T el IR T i oy Sl IUAT ST
Aeor & AT fFar 51 gehar B

(2). ShaeR AT ganrT SAfAd saeraAdlier F\T A Fae grEgield AR FeT
SECIERIEERICINY

(3). ShaeR AAEROT ganT SAfAd SaerAlier AT A FsAT 3T # A &
3UANT Y Fohd § oHfehel 3edcgsd Solal & 8T
fAmfaf@d get & 3MUR | §& 3R gAw:

A. Fad 1

B. hadl 23R 3
C. shael 131K 3
D.1,2 3R 3

Answer ||| A

Solution ||| Biomass gasification involves process where solid biomass
fuel gets converted into gaseous combustible gas by thermo-chemical
reactions which can be used to provide electricity. In this, heating of
biomass in limited air will generate energy rich gases which supply heat in
order to run engines and generators. Biomass materials applied for
generating power include bagasse, rice husk, straw, coconut shells, de-
oiled cakes, coffee waste, jute wastes, groundnut shells, saw dust etc.
From this, we see that only statement 1 is correct, while statements 2
and 3 are incorrect.
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90.301at & fAFrIfaf@d JehRl 9X faar fifFw:

(1). Siarog

(2). pdsh

(3). g greT

39 SNa-9hRT & & fhaehl/fherehl $o STiaat I Sia dishariaal & &7 &
qaeT fRar Srar 87

A. Faa 1

B. had 23R 3
C. 3aar 131k 3
D. 1,233

Answer ||| D

Solution ||| Biopesticides are naturally occurring substances obtained
from natural materials like animals, flowering plants, bacteria and
minerals, so option D. is correct.

o1.F=ff@d & O FF-T 3Tudd T &7 IRTEHF JAHIREr 7 33 87
(1). IRT TWHR AT T AT 3 AT & T 1 Jare

(2). THe & THdr o e a1 T3 %%n?r-m?,ﬁﬁg(fgdld R faarg

(3). HRA WHR aUT fFar g To98T & &g &1 faarg

(4). ar a1 3% Tt F T & [a

fAFfaf@d get & 3muR W & 3R g

A.13R2
B.2 3k 3
C.13R4
D. 33k 4

Answer ||| C

Solution ||| Subject to provisions of constitution, Supreme Court have
original jurisdiction in related to dispute matter existing among

e Government of India with one or more states

e Government of India and any state or one or more other states
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e TwWo or more states
It shows that statements 1 and 4 are only correct, hence correct option is
C..

92.71h TIT 37ETET & U o [O¥g H AeaAToild ¥l R faar Hifa:

(1). g8 Tsgufa & gAGUATd UG GROT T &l

(2). & 3MTaRIH ALt fh 39 AT & GHI 96 Heol HT GG 81, W 39
39 A & 9 ©: #AE & M e T J&&T g ST 93|

(3). I I8 IR ST AR, aF 39 39T TP 3YTHTET I FeaIerd el
g1

30dad 7§ HA-A7/8 FIT TE /82

A. Faer 13X 2
B. %hae 3

C.1,23R3
D. 315 ofy =gt

Answer ||| B

Solution ||| Statement 1 is incorrect as position of the Speaker is very
important in the House so the Speaker has to precedes during President,
Vice-President and Prime Minister. Statement 2 is incorrect as in lower
house of parliament; the Speaker gets elected from among its members
through simple majority by presenting and voting in the House.
Statement 3 is correct as Speaker may resign from his/her office by
writing under her hand to Deputy Speaker. Hence option B. is incorrect.

93.9RAY faure & wraurel & Heddld 3ueansii & FfReERy/fAAwiosRt &

oot # fArafaf@a 7 @ Sla-ar8 s @ér 8/8?

(1). 393 A W I JT A F AU Fo A o FH RN g

(2). 39HFAr T 3UHTFAr # 7 39 RiFRd gof Har §, drF 38 s8% fav

H1S B ET 3ol gre

(3). 3UHIFAT T HcG B A W, 3qHT Juifeish Ha H Rpraa gof T Fehell B
fFFfaf@d fet & MUR | F@er 3 gAv|
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A. Faa 1

B. had 23R 3
C. 3aar 131k 3
D. 1,233

Answer ||| C

Solution ||| Statement 1 is correct as consumers rights under the
provisions of law in India, allow customer to test food samples as part of
health security. Statement 2 is not correct as for filing any complaint on
consumer forum, you need to spend some money. Statement 3 is very
much correct as filing any complaint, consumers his/her legal heir has
right to file complaint on behalf of consumer. Hence C. is correct option.

94.fATARd FUGT W AR ST

(1). 9 Tsga=T &1 Tog T & gfafafRca 7 gl

(2). foaTee swrEl @1 vl aen AET A TgEd & ARER-aT # §
(3). IRT & WIAUET & 3TAR HHG H shaol olieh FHAT 3R ToT AT giehl g
39gFd A @ HiA-AVA HYA T B/e?

A. &had 1
B. 23R 3
C.13Rk3

D. &5 o 1gT

Answer ||| D

Solution ||| Statement 1 is also incorrect as in Indian Constitution, Rajya
Sabha has 250 members, of which 12 are nominated by President and
238 members are from States and Union Territories. Statement 3 is not
correct as Parliament comprises of President, Council of State (Rajya
Sabha) and House of People (Lok Sabha). Statement 2 is also incorrect,
as Chief Election Commission himself cannot pass any judgment related
to election disputed. As all statements mentioned are incorrect, so correct
option is D..
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95.9Rc a@fgena &7 ufaseriad Isg &1 +Aifd & Hgee deal & 3eddrd
ffaf@a geue w AR fifaw:

(1). ¥R ARl & AT FAE AERe (RAfder) dfgar geiard e

(2). TATH GARIAT Sl FYTET AT

(3). FmHIoT &1 A HET SN B HICHTA BT

4. G HHBRT & AT JUITT 7aehrer TAT HiThiceh aaT FRIaTd e
3UFT H § Hi-§ ARarer feured §, St Ao &1 Afa & f@eeres deat &
gfafafead gid g7?

A. a1, 23R 4
B. shad 23R 3
C. %ad 1, 33K 4
D. 1, 2, 33K 4

Answer ||| B

Solution ||| Directive Principles as described in Part IV, Article 36-51 of
Indian Constitution are for State to be followed in matters related to
administration and framing state laws. Gandhian Principles in Articles 40,
43, 47 and 48 laid by Mahatma Gandhi for State to take steps for framers
related to:

1). organizing village panchayats by giving powers and authority to work
as self-government

2). promoting cottage industries on individual or co-operative basis

3). ban on consumption of intoxicated and injurious drinks and drugs

4). promoting educational and economic activities for poors

5). organizing agricultural and animal husbandry on required guidelines
6). prohibiting slaughter of cows and cattle

7). protecting and advancing environment and safeguard forests and wild
life

8). protect, conserve and maintain historic places

9). separate judiciary from executive

From the above description statements 2 and 3 are correct, hence correct
option is B..

96.31¢ TSET STol TARE WET o1 & 3N qUie: o] foham ST, ar e oY 38!
FT TATT I3IM?
(1). Aredr &A1 AT SToT ARSI T 371Ah YT 3AfASe ST & Goaeishor &
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g ahafT|

(2). W8 FHAET AR, [SeTeh G STol & AT dehfedeh HId g, T oo
HTERISATIT T MYt W FHTAT FITTHT cqagR H STt T S Fehelr St
THGT STel 1 YA ol ST Hehall|

(3). RaATem & 3eufaa sl AT gaed T sRa & Afgat ¥ g & swdsty
(4). THR FYH @R A ST evel & fav SIRT F @i 70 FC 3R 37 |
TS Al 3R 97 9-89¢ W T8 T 77 H U aE Fiaaqfcd wef
i@ el & 3MUR W HEr 3R gfAv

A. Faa 1

B. shad 131X 2
C. had 331K 4
D. 1, 2, 33K 4

Answer ||| B

Solution ||| National Water Mission is mainly related to water
conservation, lowering of wastage and deals with idea of supply clean
water distribution across States using integrated water resources
development and management. If the mission of National Water
Commission is fully workable, then citizens of India will get maximum
purified water after recycling waste water. Further the mission of Nation
Water Commission is to make use of sea water through process of
Reverse Osmosis so that maximum water can be supplied. This
description relates that both statements 1 and 2 are correct. Also
statement 3 and 4 are incorrect as mission of National Water Commission
is not to link any rivers nor involved any activities related to farming by
providing water through pumpset and boring. Hence option B. is correct.

97.TSET gRA TSRO 31T, 2010 RAT dfaus & Feafaf@a & @
PIA-ANH JIaelel & AT AAAIA g3 A/ge A7

(1). TTET qAEROT & HRAFR & Y, S 3efess 21F Ieddd sl &
PR ST 3797 AT ST &

(2). 30676 275(1) & Iecdld IR SAicadl & HedIoT g HTgiad &=
A WA FT TR el & AT graenfad el & ey

(3). 31TeoE 243(A) & eadia Sfeelld ame Fam 1 AfFaat 3R Hrf &
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W
Pl T2t & UK | F 3 g

A. Faer 1

B. &haer 23iR 3
C. dhadl 131k 3
D. 1,233

Answer ||| A

Solution ||| National Green Tribunal Act, 2010 under the Parliament Act
allows creation of special tribunal that can take care of expeditious
disposal of cases related to environmental issues which after getting
inspiration from Indian constitution under Article 21 frames that citizen of
India has a right to enjoy healthy environment. This description clearly
defines that statement 1 is correct. Statement 2 * Provision of grants for
raising the level of administration in the Scheduled Areas for the welfare
of Scheduled Tribes under section 275 (1)” and statement 3 “Powers and
functions of Gram Sabha as mentioned under Article 243 (A.)” are not
correct as National Green Tribunal Act, 2010 has no relation with these
statements, hence option A. is correct.

98.T%¢1 Sig fafatrar wiftietor (NBA) R # ¥ E&ROT # fhd g T
g?

(1). NBA Sig TR &1 Uehell § AT &M 3R IRERWIT ITIdfRIeh FATErEAT T
HI&TT T B

(2). NBASY dreut & 3Me[dfReh @eMered T el ¢ Ao HeJHeTeT

JcgaTd : Aleile T & 3R g Hdetor Haar gl

(3). NBAHT 31ET & faer 3mefafian/sifas dameel 8 deafeud siefis dever
PR 8 IHTde g FhaT ST Fehll &

39gFd A @ HlA-AVA HYT TET B/e?

A. &hae 1

B. shdel 23iR 3
C. hael 131K 3
D.1,2 3R 3
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Answer ||| C

Solution ||| NBA on advice of Central Government helps in conservation
of biodiversity and put efforts in saving Indian agriculture by involving in
examination of biopiracy and controls the genetic/biological resources by
cross examination of its Intellectual Property Rights, so0 with this we see
that both statements 1 and 3 are correct, hence C. is correct option.

99.HRAT THE H TUIT YEAT ollel I FAT 36527 g7

A. HIaSlleish Heed & fAREd HcATaRTH Heg W TgH el 8

B. fauell dcwat & AT & T wed e 8]

C. fhdlY 3fegerel &1 #AleT & Ueh ARTT AT # weldl = &

D. $& deHdl & Eaeh 31Yar i egdagR W U o9l & forw Hrdarr
AT A &

Answer ||| A

Solution ||| Adjournment motion is introduced in the parliament which
serves as exceptional procedure which leads to discuss definite matter of
urgent public importance thereby requiring support of atleast 50
members, which says that option A. is correct. Option B. is incorrect as
adjournment motion is not related to collection of information about
ministers. Option C. and D. are also incorrect as adjournment motion are
not concern with reduction of specific amount in demand for grant nor
involved in extending proceedings in order to check behaviour of
members

100.99a (31 & # fawdR) wRfaws, 1996 & eddia wafase aEt &
ATH FHT T AT HfAFT/ATFT 52

(1). IMA FHT & 9TE ITgRAT &1 7 A $T gEARoT Aavet AT AfFT gl B
(2). IH FAT & U oY TeAdST HT AT Bl gl

(3). 3Teiaa &t # fhdr off WieeT & T @erel & Yer 3rYar qdaior orsdd
JeTel el g ATH THT I 3HeTRAT ITaRTS g

39gFd A @ HiA-AVA HYT TE B/E?
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A. Faa 1

B. shad 131k 2
C. aer 231k 3
D. 1,233

Answer ||| B

Solution ||| Panchayat Extension to Scheduled Areas (PESA) Act in 1996
was principally introduced to give self rule authority to tribal people so
that they can govern themselves with their resources. Under Panchayat
Extension to Scheduled Areas (PESA) Act, Gram Sabhas will compulsory
performs executive functions which lead to finalization of plans for village
Panchayats, arranging good schemes, certificates related to utilization of
funds, power related to land acquisition, managing village markets,
control money lending an ownership of minor forest produce. This
description shows that both statements 1 and 2 are correct while 3 is not
valid, so correct option is B.
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